

**Turkish Journal of Mathematics** 

http://journals.tubitak.gov.tr/math/

**Research Article** 

# Close-to-convexity of a class of harmonic mappings defined by a third-order differential inequality

Elif YAŞAR<sup>\*</sup>, Sibel YALÇIN

Department of Mathematics, Faculty of Arts and Sciences, Bursa Uludağ University, Bursa, Turkey

<b>Received:</b> 13.04.2020	•	Accepted/Published Online: 10.01.2021	•	Final Version: 26.03.2021

**Abstract:** In this paper, we consider a class of normalized harmonic functions in the unit disk satisfying a third-order differential inequality and we investigate several properties of this class such as close-to-convexity, coefficient bounds, growth estimates, sufficient coefficient condition, and convolution. Moreover, as an application, we construct harmonic polynomials involving Gaussian hypergeometric function which belong to the considered class. We also provide examples illustrating graphically with the help of Maple.

Key words: Harmonic, univalent, close-to-convex, hypergeometric function

## 1. Introduction

Let  $\mathcal{H}$  denote the class of complex valued harmonic functions  $f = h + \overline{g}$  defined in the open unit disk  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$ , and normalized by  $f(0) = f_z(0) - 1 = 0$ . Also, let  $\mathcal{H}^0 = \{f \in \mathcal{H} : f_{\overline{z}}(0) = 0\}$ . Each function  $f \in \mathcal{H}^0$  can be expressed as  $f = h + \overline{g}$ , where

$$h(z) = z + \sum_{m=2}^{\infty} a_m z^m, \quad g(z) = \sum_{m=2}^{\infty} b_m z^m$$
 (1.1)

are analytic in  $\mathcal{U}$ . We call h the analytic part and g the coanalytic part of f. A necessary and sufficient condition for f to be locally univalent and sense-preserving in  $\mathcal{U}$  is that |h'(z)| > |g'(z)| in  $\mathcal{U}$ . See [1, 3].

Denote by  $S_H$  the class of functions  $f = h + \overline{g}$  that are harmonic, univalent, and sense-preserving in the unit disk  $\mathcal{U}$ . Furthermore, let  $S_H^0 = \{f \in S_H : f_{\overline{z}}(0) = 0\}$ . Note that, with g(z) = 0, the classical family S of analytic univalent and normalized functions in  $\mathcal{U}$  is a subclass of  $S_H^0$ , just as the family  $\mathcal{A}$  of analytic and normalized functions in  $\mathcal{U}$  is a subclass of  $\mathcal{H}^0$ . Let  $S^*$ ,  $\mathcal{K}$  and  $\mathcal{C}$  be the subclasses of S mapping  $\mathcal{U}$  onto starlike, convex, and close-to-convex domains, respectively, just as  $S_H^{0,*}$ ,  $\mathcal{K}_H^0$ , and  $\mathcal{C}_H^0$  are the subclasses of  $S_H^0$ mapping  $\mathcal{U}$  onto their respective domains.

In 2013, Ponnusamy et al. [15] introduced a class of functions  $f = h + \bar{g} \in \mathcal{H}^0$  satisfying the condition Re $[f_z(z)] > |f_{\bar{z}}(z)|$  for  $z \in \mathcal{U}$  and they proved that this class of functions are close-to-convex. Moreover, Li and Ponnusamy [12, 13] obtained univalency and convexity of the partial sums of the abovementioned class. Recently, Ghosh and Vasudevarao [5] defined a class of functions  $f = h + \bar{g} \in \mathcal{H}^0$  satisfying the condition

<sup>\*</sup>Correspondence: elifyasar@yahoo.com

<sup>2010</sup> AMS Mathematics Subject Classification: 30C45, 30C80.

Re  $\{h'(z) + \alpha z h''(z)\} > |g'(z) + \alpha z g''(z)|$  for  $z \in \mathcal{U}$  and they investigated coefficient bounds, growth estimates, convolution, and radius of convexity for the partial sums of members of their class. Other interesting studies of harmonic mappings that we have been inspired by in this work are [2, 9, 10, 14, 16].

Let  $\mathcal{R}_S(\lambda, \delta)$  denote a class of functions  $f \in \mathcal{A}$  such that

$$\operatorname{Re}\left\{f'(z) + \lambda z f''(z) + \delta z^2 f'''(z)\right\} > 0 \ (\lambda \ge \delta \ge 0)$$

The class  $\mathcal{R}_S(\lambda, \delta)$  was studied by Rosihan et al. [18]. They obtained the form of f with a double integral operator by using usual subordination. Also, the class  $\mathcal{R}_S(\lambda, \frac{\lambda-1}{2})$  with  $\lambda \geq 1$  is a particular case of the class defined by Al-Refai [17].

Denote by  $\mathcal{R}^0_H(\lambda, \delta)$ , the class of functions  $f = h + \bar{g} \in \mathcal{H}^0$  and satisfy

$$\operatorname{Re}[h'(z) + \lambda z h''(z) + \delta z^2 h'''(z)] > \left|g'(z) + \lambda z g''(z) + \delta z^2 g'''(z)\right|$$
(1.2)

where  $\lambda \geq \delta \geq 0$ .

In this paper, we mainly deal with the functions  $f = h + \bar{g} \in \mathcal{H}^0$  of the class  $\mathcal{R}^0_H(\lambda, \delta)$  which is defined by the third-order differential inequality (1.2). In Section 2, we derive that the members of the class are closeto-convex and we obtain coefficient bounds, growth estimates, and sufficient coefficient condition of the class  $\mathcal{R}^0_H(\lambda, \delta)$ . We also provide examples, illustrating graphically with the help of Maple. In Section 3, we show that this class is closed under convex combination and convolution of its members. In Section 4, considering harmonic mappings involving Gaussian hypergeometric function, we examine sufficient conditions for such mappings to be in this class. Moreover, we provide an example of harmonic polynomial which belongs to the class  $\mathcal{R}^0_H(\lambda, \delta)$ .

#### 2. Close-to-convexity, coefficient bounds, growth estimates

First, we give a result of Clunie and Sheil-Small [1] which derives a sufficient condition for  $f \in \mathcal{H}$  to be close-to-convex.

**Lemma 2.1** Suppose h and g are analytic in  $\mathcal{U}$  with |g'(0)| < |h'(0)| and  $F_{\mu} = h + \mu g$  is close to convex for each  $\mu$  ( $|\mu| = 1$ ), then  $f = h + \bar{g}$  is close to convex in  $\mathcal{U}$ .

**Theorem 2.2** The harmonic mapping  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$  if and only if  $F_\mu = h + \mu g \in \mathcal{R}_S(\lambda, \delta)$  for each  $\mu(|\mu| = 1)$ .

**Proof** Suppose  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$ . For each  $|\mu| = 1$ ,

$$\begin{aligned} &\operatorname{Re}\left\{F'_{\mu}(z) + \lambda z F''_{\mu}(z) + \delta z^{2} F'''_{\mu}(z)\right\} \\ &= \operatorname{Re}\left\{h'(z) + \lambda z h''(z) + \delta z^{2} h'''(z) + \mu\left(g'(z) + \lambda z g''(z) + \delta z^{2} g'''(z)\right)\right\} \\ &> \operatorname{Re}\left\{h'(z) + \lambda z h''(z) + \delta z^{2} h'''(z)\right\} - \left|g'(z) + \lambda z g''(z) + \delta z^{2} g'''(z)\right| > 0 \ (z \in \mathcal{U}). \end{aligned}$$

Thus,  $F_{\mu} \in \mathcal{R}_{S}(\lambda, \delta)$  for each  $\mu(|\mu| = 1)$ . Conversely, let  $F_{\mu} = h + \mu g \in \mathcal{R}_{S}(\lambda, \delta)$  then

$$\operatorname{Re}\left\{h'(z) + \lambda z h''(z) + \delta z^2 h'''(z)\right\} > \operatorname{Re}\left\{-\mu\left(g'(z) + \lambda z g''(z) + \delta z^2 g'''(z)\right)\right\} \quad (z \in \mathcal{U}).$$

Suitably choosing  $\mu\left(\left|\mu\right|=1\right)$ , we obtain

$$\operatorname{Re}\left\{h'(z) + \lambda z h''(z) + \delta z^2 h'''(z)\right\} > \left|g'(z) + \lambda z g''(z) + \delta z^2 g'''(z)\right| \quad (z \in \mathcal{U});$$
  
( $\lambda, \delta$ ).

hence,  $F_{\mu} \in \mathcal{R}_{S}(\lambda, \delta)$ .

**Lemma 2.3** (Jack-Miller-Mocanu Lemma [7, 8]) Let  $\varphi$  defined by  $\varphi(z) = C_m z^m + C_{m+1} z^{m+1} + \dots$  be analytic in  $\mathcal{U}$ , with  $C_m \neq 0$ , and let  $z_0 \neq 0$ ,  $z_0 \in \mathcal{U}$  be a point of  $\mathcal{U}$  such that

$$|\varphi(z_0)| = \max_{|z| \le |z_0|} |\varphi(z)|$$

then there is a real number  $n, n \ge m \ge 1$ , such that

$$\frac{z_0\varphi'(z_0)}{\varphi(z_0)} = n \quad and \quad Re\left\{1 + \frac{z_0\varphi''(z_0)}{\varphi'(z_0)}\right\} \ge n.$$

**Lemma 2.4** If  $F \in \mathcal{R}_S(\lambda, \delta)$  with  $\lambda \ge \delta \ge 0$  then  $Re\{F'(z)\} > 0$ ; hence, F is close-to-convex in  $\mathcal{U}$ .

**Proof** Suppose  $F \in \mathcal{R}_S(\lambda, \delta)$  and  $F'(z) + \lambda z F''(z) + \delta z^2 F'''(z) = \Psi(z)$ . Then  $\operatorname{Re}\{\Psi(z)\} > 0$  for  $z \in \mathcal{U}$ . Consider an analytic function  $\varphi$  in  $\mathcal{U}$  with  $\varphi(0) = 0$  and

$$F'(z) = \frac{1 + \varphi(z)}{1 - \varphi(z)}, \quad \varphi(z) \neq 1.$$

We need to prove that  $|\varphi(z)| < 1$  for all  $z \in \mathcal{U}$ . Then we have

$$\begin{split} \Psi(z) &= F'(z) + \lambda z F''(z) + \delta z^2 F'''(z) \\ &= \frac{1 + \varphi(z)}{1 - \varphi(z)} + \frac{2\lambda z \varphi'(z)}{(1 - \varphi(z))^2} + \frac{2\delta z \varphi'(z)}{(1 - \varphi(z))^2} \frac{z \varphi''(z)}{\varphi'(z)} + \frac{4\delta(z \varphi'(z))^2}{(1 - \varphi(z))^3}. \end{split}$$

Since  $\varphi$  is analytic in  $\mathcal{U}$  and  $\varphi(0) = 0$ , if there is  $z_0 \in \mathcal{U}$  such that

$$\max_{|z| \le |z_0|} |\varphi(z)| = |\varphi(z_0)| = 1,$$

then by Lemma 2.3, we can write

$$\varphi(z_0) = e^{i\theta}, \quad z_0 \varphi'(z_0) = n\varphi(z_0) = ne^{i\theta}, \quad (n \ge 1, 0 < \theta < 2\pi).$$

and

$$\operatorname{Re}\left\{\frac{z_0\varphi''(z_0)}{\varphi'(z_0)}\right\} \ge n-1.$$

For such a point  $z_0 \in \mathcal{U}$ , we obtain

$$\operatorname{Re}\{\Psi(z_0)\} = \operatorname{Re}\left\{\frac{1+e^{i\theta}}{1-e^{i\theta}} + \frac{2\lambda n e^{i\theta}}{(1-e^{i\theta})^2} + \frac{2\delta n e^{i\theta}}{(1-e^{i\theta})^2}\frac{z_0\varphi''(z_0)}{\varphi'(z_0)} + \frac{4\delta(n e^{i\theta})^2}{(1-e^{i\theta})^3}\right\}$$
$$= \frac{-\lambda n}{1-\cos\theta} - \frac{\delta n}{1-\cos\theta}\operatorname{Re}\left\{\frac{z_0\varphi''(z_0)}{\varphi'(z_0)}\right\} + \frac{\delta n^2}{1-\cos\theta}$$
$$\leq \frac{(\delta-\lambda)n}{1-\cos\theta} \leq \frac{(\delta-\lambda)n}{2} \leq 0$$

which contradicts the hypothesis. Hence, there is no  $z_0 \in \mathcal{U}$  such that  $|\varphi(z_0)| = 1$ , which means that  $|\varphi(z)| < 1$  for all  $z \in \mathcal{U}$ . Therefore, we obtain that  $\operatorname{Re}\{F'(z)\} > 0$ .

**Theorem 2.5** The functions in the class  $\mathcal{R}^0_H(\lambda, \delta)$  are close-to-convex in  $\mathcal{U}$ .

**Proof** Referring to Lemma 2.4, we derive that functions  $F_{\mu} = h + \mu g \in \mathcal{R}_{S}(\lambda, \delta)$  are close-to-convex in  $\mathcal{U}$  for each  $\mu(|\mu| = 1)$ . Now in view of Lemma 2.1 and Theorem 2.2, we obtain that functions in  $\mathcal{R}^{0}_{H}(\lambda, \delta)$  are close-to-convex in  $\mathcal{U}$ .

**Theorem 2.6** Let  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$  then for  $m \ge 2$ ,

$$|b_m| \le \frac{1}{m \left[1 + (m-1)(\lambda + \delta(m-2))\right]}.$$
(2.1)

The result is sharp and the equality is held for the function  $f(z) = z + \frac{1}{m[1+(m-1)(\lambda+\delta(m-2))]}\bar{z}^m$ .

**Proof** Suppose that  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$ . Using the series representation of g(z), we derive

$$\begin{aligned} r^{m-1} \left[ m + \lambda m(m-1) + \delta m(m-1)(m-2) \right] |b_m| \\ &\leq \frac{1}{2\pi} \int_{0}^{2\pi} \left| g'(re^{i\theta}) + \lambda r e^{i\theta} g''(re^{i\theta}) + \delta r^2 e^{2i\theta} g'''(re^{i\theta}) \right| d\theta \\ &< \frac{1}{2\pi} \int_{0}^{2\pi} \operatorname{Re} \left\{ h'(re^{i\theta}) + \lambda r e^{i\theta} h''(re^{i\theta}) + \delta r^2 e^{2i\theta} h'''(re^{i\theta}) \right\} d\theta \\ &= \frac{1}{2\pi} \int_{0}^{2\pi} \operatorname{Re} \left\{ 1 + \sum_{m=2}^{\infty} [m + \lambda m(m-1) + \delta m(m-1)(m-2)] a_m r^{m-1} e^{i(m-1)\theta} \right\} d\theta \\ &= 1. \end{aligned}$$

The desired bound obtained by allowing  $r \to 1^-$ . Moreover, it is easy to verify that the equality is held for the function  $f(z) = z + \frac{1}{m[1+(m-1)(\lambda+\delta(m-2))]}\bar{z}^m$ .

**Theorem 2.7** Let  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$ . Then for  $m \ge 2$ , we have

$$|a_m| + |b_m| \le \frac{2}{m \left[1 + (m-1)(\lambda + \delta(m-2))\right]}$$

This result is sharp and the equality is held for the function  $f(z) = z + \sum_{m=2}^{\infty} \frac{2}{m[1+(m-1)(\lambda+\delta(m-2))]} z^m.$ 

**Proof** Suppose that  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$ , then from Theorem 2.2,  $F_\mu = h + \mu g \in \mathcal{R}_S(\lambda, \delta)$  for  $\mu$  ( $|\mu| = 1$ ). Thus, for each  $|\mu| = 1$ , we have

$$\operatorname{Re}\left\{(h+\mu g)' + \lambda z(h+\mu g)'' + \delta z^{2}(h+\mu g)'''\right\} > 0$$

for  $z \in \mathcal{U}$ . Then there exists an analytic function p of the form  $p(z) = 1 + \sum_{m=1}^{\infty} p_m z^m$ , with  $\operatorname{Re} p(z) > 0$  in  $\mathcal{U}$  such that

$$h'(z) + \lambda z h''(z) + \delta z^2 h'''(z) + \mu(g'(z) + \lambda z g''(z) + \delta z^2 g'''(z)) = p(z).$$
(2.2)

Comparing coefficients on both sides of (2.2) we have

$$m \left[1 + (m-1)(\lambda + \delta(m-2))\right] (a_m + \mu b_m) = p_{m-1} \text{ for } m \ge 2.$$

Since  $|p_m| \leq 2$  for  $m \geq 1$ , and  $\mu(|\mu| = 1)$  is arbitrary, proof is complete. The function  $f(z) = z + \sum_{m=2}^{\infty} \frac{2}{m[1+(m-1)(\lambda+\delta(m-2))]} z^m$  shows that the result is sharp.

The following result gives a sufficient condition for a function to be in the class  $\mathcal{R}^0_H(\lambda, \delta)$ .

**Theorem 2.8** Let  $f = h + \bar{g} \in \mathcal{H}^0$  with

$$\sum_{m=2}^{\infty} m \left\{ 1 + (m-1) \left[ \lambda + \delta \left( m - 2 \right) \right] \right\} \left( |a_m| + |b_m| \right) \le 1,$$
(2.3)

then  $f \in \mathcal{R}^0_H(\lambda, \delta)$ .

**Proof** Suppose that  $f = h + \bar{g} \in \mathcal{H}^0$ . Then using (2.3),

$$\operatorname{Re} \left\{ h'(z) + \lambda z h''(z) + \delta z^2 h'''(z) \right\}$$

$$= \operatorname{Re} \left\{ 1 + \sum_{m=2}^{\infty} m \left\{ 1 + (m-1) \left[ \lambda + \delta \left( m - 2 \right) \right] \right\} a_m z^{m-1} \right\}$$

$$> 1 - \sum_{m=2}^{\infty} m \left\{ 1 + (m-1) \left[ \lambda + \delta \left( m - 2 \right) \right] \right\} |a_m|$$

$$\geq \sum_{m=2}^{\infty} m \left\{ 1 + (m-1) \left[ \lambda + \delta \left( m - 2 \right) \right] \right\} |b_m|$$

$$> \left| \sum_{m=2}^{\infty} m \left\{ 1 + (m-1) \left[ \lambda + \delta \left( m - 2 \right) \right] \right\} b_m z^{m-1} \right|$$

$$= \left| g'(z) + \lambda z g''(z) + \delta z^2 g'''(z) \right|.$$

Hence,  $f \in \mathcal{R}^0_H(\lambda, \delta)$ .

Corollary 2.9 Let  $f = h + \bar{g} \in \mathcal{H}^0$ . If

$$\sum_{m=2}^{\infty} m^2 \left[ 3 - m + \lambda \left( m - 1 \right) \right] \left( |a_m| + |b_m| \right) \le 2,$$

then  $f \in \mathcal{R}^0_H(\lambda, \frac{\lambda-1}{2})$  with  $\lambda \ge 1$ .

L		
L		

**Example 2.10** (i) If we set  $\lambda = 0.5$  and  $\delta = 0.05$ , in view of Theorem 2.8, the harmonic polynomial  $f_1(z) = z + 0.15\overline{z}^3$  and  $f_2(z) = z - 0.079z^3 + 0.079\overline{z}^3$  belong to  $\mathcal{R}^0_H(0.5, 0.05)$ . The images of concentric circles inside the unit disk  $\mathcal{U}$  under  $f_1$  and  $f_2$  are shown in Figures 1a and 1b.



**Figure 1**. (a) Image of  $f_1(\mathcal{U})$ , (b) image of  $f_2(\mathcal{U})$ .

(ii) Let  $\lambda = 3$  and  $\delta = 1$ , in view of Theorem 2.8, the harmonic polynomial  $f_3(z) = z - \frac{1}{16}\overline{z}^2 + \frac{1}{54}\overline{z}^3$ belong to  $\mathcal{R}^0_H(3,1)$ . The images of concentric circles inside the unit disk  $\mathcal{U}$  under  $f_3$  is shown in Figure 2.

**Theorem 2.11** Let  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$  with  $\lambda \ge \delta \ge 0$ . Then

$$z| + 2\sum_{m=2}^{\infty} \frac{(-1)^{m-1} |z|^m}{\delta m^3 + (\lambda - 3\delta)m^2 + (1 - \lambda + 2\delta)m} \le |f(z)|,$$

$$|f(z)| \leq |z| + 2\sum_{m=2}^{\infty} \frac{|z|^m}{\delta m^3 + (\lambda - 3\delta)m^2 + (1 - \lambda + 2\delta)m}$$

Inequalities are sharp for the function  $f(z) = z + \frac{1}{m[1+(m-1)(\lambda+\delta(m-2))]}\overline{z}^m$ .

**Proof** Let  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$ . Then using Theorem 2.2,  $F_\mu \in \mathcal{R}_S(\lambda, \delta)$  and for each  $|\mu| = 1$  we have Re  $\{\Phi(z)\} > 0$  where

$$\Phi(z) = F'_{\mu}(z) + \lambda z F''_{\mu}(z) + \delta z^2 F''_{\mu}(z).$$



**Figure 2**. Image of  $f_3(\mathcal{U})$ .

Then using the method of Rosihan et al. [18, Sect. 2], we have

$$\Phi(z) = F'_{\mu}(z) + (\rho(1+\eta)+\eta)zF''_{\mu}(z) + \rho\eta z^{2}F''_{\mu}(z)$$

$$= \eta z^{1-\frac{1}{\eta}} \left(\rho z^{1+\frac{1}{\eta}}F''_{\mu}(z) + z^{\frac{1}{\eta}}F'_{\mu}(z)\right)'$$

$$= \eta z^{1-\frac{1}{\eta}} \left[\rho z^{1+\frac{1}{\eta}-\frac{1}{\rho}}(z^{\frac{1}{\rho}}F'_{\mu}(z))'\right]', \qquad (2.4)$$

where  $\rho = \frac{(\lambda - \delta) - \sqrt{(\lambda - \delta)^2 - 4\delta}}{2}$ ,  $\eta + \rho = \lambda - \delta$ ,  $\rho \eta = \delta$ ,  $\operatorname{Re} \rho \ge 0$ ,  $\operatorname{Re} \eta \ge 0$ . Then integrating (2.4) gives

$$\rho z^{1+\frac{1}{\eta}-\frac{1}{\rho}} (z^{\frac{1}{\rho}} F'_{\mu}(z))' = \frac{1}{\eta} \int_{0}^{z} \vartheta^{\frac{1}{\eta}-1} \Phi(\vartheta) d\vartheta.$$

Making substitution  $\vartheta = u^{\eta}z$  and simplifying yields

$$\left(z^{\frac{1}{\rho}}F'_{\mu}(z)\right)' = \frac{1}{\rho}z^{\frac{1}{\rho}-1} \int_{0}^{1} \Phi(u^{\eta}z)du.$$
(2.5)

Now, integrating (2.5) and making substitution  $\xi=v^\rho z\,$  gets

$$z^{\frac{1}{\rho}}F'_{\mu}(z) = \frac{1}{\rho} \int_{0}^{z} \xi^{\frac{1}{\rho}-1} \int_{0}^{1} \Phi(u^{\eta}\xi) \ du \ d\xi = z^{\frac{1}{\rho}} \int_{0}^{1} \int_{0}^{1} \Phi(u^{\eta}v^{\rho}z) du dv$$

which simplifies to

$$F'_{\mu}(z) = \int_{0}^{1} \int_{0}^{1} \Phi(u^{\eta}v^{\rho}z) du dv.$$
(2.6)

On the other hand, since Re  $\{\Phi(z)\} > 0$  then  $\Phi(z) \prec \frac{1+z}{1-z}$  where  $\prec$  denotes the subordination [7, 8]. Let

$$\varphi(z) = 1 + \sum_{m=1}^{\infty} \frac{z^m}{(1+\eta m)(1+\rho m)} = \int_0^1 \int_0^1 \frac{dv du}{1-u^\eta v^\rho z}$$

and  $Q(z) = \frac{1+z}{1-z} = \sum_{m=0}^{\infty} 2z^m$ . Then, from (2.6) we have

$$\begin{split} F'_{\mu}(z) &\prec \quad (\varphi \ast Q)(z) \\ &= \quad \left(1 + \sum_{m=1}^{\infty} \frac{z^m}{(1 + \eta m)(1 + \rho m)}\right) \ast \left(1 + \sum_{m=1}^{\infty} 2z^m\right) \\ &= \quad 1 + \sum_{m=1}^{\infty} \frac{2}{1 + (\lambda - \delta)m + \delta m^2} z^m. \end{split}$$

Since

$$\begin{split} \left| F'_{\mu}(z) \right| &= |h'(z) + \mu g'(z)| \\ &\leq 1 + 2 \sum_{m=1}^{\infty} \frac{|z|^m}{1 + (\lambda - \delta)m + \delta m^2} \end{split}$$

and

$$\begin{aligned} |F'_{\mu}(z)| &= |h'(z) + \mu g'(z)| \\ &\geq 1 + 2 \sum_{m=1}^{\infty} \frac{(-1)^m |z|^m}{1 + (\lambda - \delta)m + \delta m^2}, \end{aligned}$$

in particular we have

$$|h'(z)| + |g'(z)| \le 1 + 2\sum_{m=1}^{\infty} \frac{|z|^m}{1 + (\lambda - \delta)m + \delta m^2}$$

and

$$|h'(z)| - |g'(z)| \ge 1 + 2\sum_{m=1}^{\infty} \frac{(-1)^m |z|^m}{1 + (\lambda - \delta)m + \delta m^2}.$$

Let  $\Gamma$  be the radial segment from 0 to z, then

$$\begin{aligned} f(z)| &= \left| \int_{\Gamma} \frac{\partial f}{\partial \varsigma} d\varsigma + \frac{\partial f}{\partial \bar{\varsigma}} d\bar{\varsigma} \right| &\leq \int_{\Gamma} \left( |h'(\varsigma)| + |g'(\varsigma)| \right) |d\varsigma| \\ &\leq \int_{0}^{|z|} \left( 1 + 2\sum_{m=1}^{\infty} \frac{|s|^m}{1 + (\lambda - \delta)m + \delta m^2} \right) ds \\ &= |z| + 2\sum_{m=1}^{\infty} \frac{|z|^{m+1}}{(m+1)\left[1 + (\lambda - \delta)m + \delta m^2\right]} \\ &= |z| + 2\sum_{m=2}^{\infty} \frac{|z|^m}{\delta m^3 + (\lambda - 3\delta)m^2 + (1 - \lambda + 2\delta)m} \end{aligned}$$

and

$$\begin{aligned} |f(z)| &\geq \int_{\Gamma} \left( |h'(\varsigma)| - |g'(\varsigma)| \right) |d\varsigma| \\ &\geq \int_{0}^{|z|} \left( 1 + 2\sum_{m=1}^{\infty} \frac{(-1)^{m} |s|^{m}}{1 + (\lambda - \delta)m + \delta m^{2}} ds \right) \\ &= |z| + 2\sum_{m=2}^{\infty} \frac{(-1)^{m-1} |z|^{m}}{\delta m^{3} + (\lambda - 3\delta)m^{2} + (1 - \lambda + 2\delta)m}. \end{aligned}$$

**Remark 2.12** (i) Our results, obtained in this section, yield the results of the classes  $\mathcal{R}^0_H(0,0)$  and  $\mathcal{R}^0_H(\lambda,0)$  which are defined and studied in [12, 13, 15] and [5], respectively. (ii) The class  $\mathcal{R}_S(\lambda, \frac{\lambda-1}{2})$  with  $\lambda \geq 1$  is a particular case of the class defined by Al-Refai [17] and our results yield the results of [17].

#### 3. Convex combinations and convolutions

In this section, we prove that the class  $\mathcal{R}^0_H(\lambda, \delta)$  is closed under convex combinations and convolutions of its members.

**Theorem 3.1** The class  $\mathcal{R}^0_H(\lambda, \delta)$  is closed under convex combinations.

**Proof** Suppose  $f_i = h_i + \overline{g_i} \in \mathcal{R}^0_H(\lambda, \delta)$  for i = 1, 2, ..., m and  $\sum_{i=1}^m t_i = 1$   $(0 \le t_i \le 1)$ . The convex combination of functions  $f_i$  (i = 1, 2, ..., m) may be written as

$$f(z) = \sum_{i=1}^{m} t_i f_i(z) = h(z) + \overline{g(z)},$$

where

$$h(z) = \sum_{i=1}^{m} t_i h_i(z)$$
 and  $g(z) = \sum_{i=1}^{m} t_i g_i(z)$ .

Then both h and g are analytic in  $\mathcal{U}$  with h(0) = g(0) = h'(0) - 1 = g'(0) = 0 and

$$\operatorname{Re}\{h'(z) + \lambda z h''(z) + \delta z^2 h'''(z)\} = \operatorname{Re}\left\{\sum_{i=1}^m t_i \left(h'_i(z) + \lambda z h''_i(z) + \delta z^2 h'''_i(z)\right)\right\}$$
$$> \sum_{i=1}^m t_i \left|g'_i(z) + \lambda z g''_i(z) + \delta z^2 g'''_i(z)\right|$$
$$\ge \left|g'(z) + \lambda z g''(z) + \delta z^2 g'''(z)\right|$$

showing that  $f \in \mathcal{R}^0_H(\lambda, \delta)$ .

A sequence  $\{q_m\}_{m=0}^{\infty}$  of nonnegative real numbers is said to be a convex null sequence, if  $q_m \to 0$  as  $m \to \infty$ , and  $q_0 - q_1 \ge q_1 - q_2 \ge q_2 - q_3 \ge ... \ge q_{m-1} - q_m \ge ... \ge 0$ . To prove results for convolution, we shall need the following Lemma 3.2 and Lemma 3.3.

**Lemma 3.2** [4] If  $\{q_m\}_{m=0}^{\infty}$  is a convex null sequence, then function

$$q(z) = \frac{q_0}{2} + \sum_{m=1}^{\infty} q_m z^m$$

is analytic and  $Re\{q(z)\} > 0$  in U.

**Lemma 3.3** [19] Let the function p be analytic in  $\mathcal{U}$  with p(0) = 1 and  $Re\{p(z)\} > 1/2$  in  $\mathcal{U}$ . Then for any analytic function F in  $\mathcal{U}$ , the function p \* F takes values in the convex hull of the image of  $\mathcal{U}$  under F.

**Lemma 3.4** Let  $F \in \mathcal{R}_S(\lambda, \delta)$ , then  $Re\left\{\frac{F(z)}{z}\right\} > \frac{1}{2}$ .

**Proof** Suppose  $F \in \mathcal{R}_S(\lambda, \delta)$  be given by  $F(z) = z + \sum_{m=2}^{\infty} A_m z^m$ , then

$$\operatorname{Re}\left\{1+\sum_{m=2}^{\infty}m\left[1+(m-1)\left(\lambda+\delta(m-2)\right)\right]A_{m}z^{m-1}\right\}>0\quad(z\in\mathcal{U}),$$

which is equivalent to  $\operatorname{Re}\{p(z)\} > \frac{1}{2}$  in  $\mathcal{U}$ , where

$$p(z) = 1 + \frac{1}{2} \sum_{m=2}^{\infty} m \left[ 1 + (m-1) \left( \lambda + \delta(m-2) \right) \right] A_m z^{m-1}.$$

Now consider a sequence  $\{q_m\}_{m=0}^{\infty}$  defined by

$$q_0 = 1$$
 and  $q_{m-1} = \frac{2}{m \left[1 + (m-1) \left(\lambda + \delta(m-2)\right)\right]}$  for  $m \ge 2$ .

687

It can be easily seen that the sequence  $\{q_m\}_{m=0}^{\infty}$  is convex null sequence and using Lemma 3.2, the function

$$q(z) = 1 + \sum_{m=2}^{\infty} \frac{2}{m \left[1 + (m-1) \left(\lambda + \delta(m-2)\right)\right]} z^{m-1}$$

is analytic and  $\operatorname{Re}\{q(z)\} > \frac{1}{2}$  in  $\mathcal{U}$ . Writing

$$\frac{F(z)}{z} = p(z) * \left( 1 + \sum_{m=2}^{\infty} \frac{2}{m \left[ 1 + (m-1) \left( \lambda + \delta(m-2) \right) \right]} z^{m-1} \right)$$

and making use of Lemma 3.3 gives that  $\operatorname{Re}\left\{\frac{F(z)}{z}\right\} > \frac{1}{2}$  for  $z \in \mathcal{U}$ .

**Lemma 3.5** Let  $F_i \in \mathcal{R}_S(\lambda, \delta)$  for i = 1, 2. Then  $F_1 * F_2 \in \mathcal{R}_S(\lambda, \delta)$ .

**Proof** Suppose  $F_1(z) = z + \sum_{m=2}^{\infty} A_m z^m$  and  $F_2(z) = z + \sum_{m=2}^{\infty} B_m z^m$ . Then the convolution of  $F_1(z)$  and  $F_2(z)$  is defined by

$$F(z) = (F_1 * F_2)(z) = z + \sum_{m=2}^{\infty} A_m B_m z^m$$

Since  $F'(z) = F'_1(z) * \frac{F_2(z)}{z}$ ,  $zF''(z) = zF''_1(z) * \frac{F_2(z)}{z}$  and  $z^2F'''(z) = z^2F'''_1(z) * \frac{F_2(z)}{z}$ , then we have

$$F'(z) + \lambda z F''(z) + \delta z^2 F'''(z) = \left(F'_1(z) + \lambda z F''_1(z) + \delta z^2 F''_1(z)\right) * \frac{F_2(z)}{z}.$$
(3.1)

Since  $F_1 \in \mathcal{R}_S(\lambda, \delta)$ ,

$$\operatorname{Re}\left\{F_{1}'(z) + \lambda z F_{1}''(z) + \delta z^{2} F_{1}'''(z)\right\} > 0 \ (z \in \mathcal{U})$$

and using Lemma 3.4,  $\operatorname{Re}\left\{\frac{F_2(z)}{z}\right\} > \frac{1}{2}$  in  $\mathcal{U}$ . Now making use of Lemma 3.3 to (3.1) yields  $\operatorname{Re}\left(F'(z) + \lambda z F''(z) + \delta z^2 F'''(z)\right) > 0$  in  $\mathcal{U}$ . Thus,  $F = F_1 * F_2 \in \mathcal{R}_S(\lambda, \delta)$ .

Now using Lemma 3.5, we prove that the class  $\mathcal{R}^0_H(\lambda, \delta)$  is closed under convolutions of its members.

**Theorem 3.6** Let  $f_i \in \mathcal{R}^0_H(\lambda, \delta)$  for i = 1, 2. Then  $f_1 * f_2 \in \mathcal{R}^0_H(\lambda, \delta)$ .

**Proof** Suppose  $f_i = h_i + \overline{g_i} \in \mathcal{R}^0_H(\lambda, \delta)$  (i = 1, 2). Then the convolution of  $f_1$  and  $f_2$  is defined as  $f_1 * f_2 = h_1 * h_2 + \overline{g_1 * g_2}$ . In order to prove that  $f_1 * f_2 \in \mathcal{R}^0_H(\lambda, \delta)$ , we need to prove that  $F_\mu = h_1 * h_2 + \mu(g_1 * g_2) \in \mathcal{R}_S(\lambda, \delta)$  for each  $\mu(|\mu| = 1)$ . By Lemma 3.5, the class  $\mathcal{R}_S(\lambda, \delta)$  is closed under convolutions for each  $\mu(|\mu| = 1)$ ,  $h_i + \mu g_i \in \mathcal{R}_S(\lambda, \delta)$  for i = 1, 2. Then both  $F_1$  and  $F_2$  given by

$$F_1 = (h_1 - g_1) * (h_2 - \mu g_2)$$
 and  $F_2 = (h_1 + g_1) * (h_2 + \mu g_2),$ 

belong to  $\mathcal{R}_S(\lambda, \delta)$ . Since  $\mathcal{R}_S(\lambda, \delta)$  is closed under convex combinations, then the function

$$F = \frac{1}{2}(F_1 + F_2) = h_1 * h_2 + \mu(g_1 * g_2)$$

belongs to  $\mathcal{R}_S(\lambda, \delta)$ . Hence,  $\mathcal{R}^0_H(\lambda, \delta)$  is closed under convolution.

Now we consider the Hadamard product of a harmonic function with an analytic function which was defined by Goodloe [6] as

$$f\tilde{\ast}\psi = h\ast\psi + \overline{g\ast\psi}$$

where  $f = h + \bar{g}$  is harmonic function and  $\psi$  is an analytic function in  $\mathcal{U}$ .

**Theorem 3.7** Let  $f \in \mathcal{R}^0_H(\lambda, \delta)$  and  $\psi \in \mathcal{A}$  be such that  $Re\left(\frac{\psi(z)}{z}\right) > \frac{1}{2}$  for  $z \in \mathcal{U}$ , then  $f \in \mathcal{R}^0_H(\lambda, \delta)$ .

**Proof** Suppose that  $f = h + \bar{g} \in \mathcal{R}^0_H(\lambda, \delta)$ , then  $F_\mu = h + \mu g \in \mathcal{R}_S(\lambda, \delta)$  for each  $\mu(|\mu| = 1)$ . By Theorem 2.2, in order to show that  $f \in \mathcal{R}^0_H(\lambda, \delta)$ , we need to show that  $G = h * \psi + \mu(g * \psi) \in \mathcal{R}_S(\lambda, \delta)$  for each  $\mu(|\mu| = 1)$ . Write G as  $G = F_\mu * \psi$ , and

$$G'(z) + \lambda z G''(z) + \delta z^2 G'''(z) = \left(F'_{\mu}(z) + \lambda z F''_{\mu}(z) + \delta z^2 F''_{\mu}(z)\right) * \frac{\psi(z)}{z}.$$

Since  $\operatorname{Re}\left(\frac{\psi(z)}{z}\right) > \frac{1}{2}$  and  $\operatorname{Re}\left\{F'_{\mu}(z) + \lambda z F''_{\mu}(z) + \delta z^2 F''_{\mu}(z)\right\} > 0$  in  $\mathcal{U}$ , Lemma 3.3 proves that  $G \in \mathcal{R}_S(\lambda, \delta)$ .

**Corollary 3.8** Let  $f \in \mathcal{R}^0_H(\lambda, \delta)$  and  $\psi \in \mathcal{K}$ , then  $f \widetilde{*} \psi \in \mathcal{R}^0_H(\lambda, \delta)$ .

**Proof** Suppose  $\psi \in \mathcal{K}$ , then  $\operatorname{Re}\left(\frac{\psi(z)}{z}\right) > \frac{1}{2}$  for  $z \in \mathcal{U}$ . Theorem 3.7 concludes that  $f * \psi \in \mathcal{R}^0_H(\lambda, \delta)$ .  $\Box$ 

### 4. Applications

In this section, we consider the harmonic mappings whose coanalytic part involves the Gaussian hypergeometric function  $_2F_1(a, b, c; z)$ , which is defined by

$${}_{2}F_{1}(a,b,c;z) = F(a,b,c;z) = \sum_{m=0}^{\infty} \frac{(a)_{m}(b)_{m}}{(c)_{m}m!} z^{m} \qquad (z \in \mathcal{U}),$$
(4.1)

where  $a, b, c \in \mathbb{C}, c \neq 0, -1, -2, ...$  and  $(a)_m$  is Pochhammer Symbol defined by  $(a)_m = a(a+1)(a+2)...(a+m-1)$ and  $(a)_0 = 1$  for  $m \in \mathbb{N}$ . The series (4.1) is absolutely convergent in  $\mathcal{U}$ . Moreover, if  $\operatorname{Re}(c-a-b) > 0$ , then the series (4.1) is convergent in  $|z| \leq 1$ . Furthermore, for z = 1, we have the following well-known Gauss formula [20]

$$F(a,b,c;1) = \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} < \infty.$$
(4.2)

To prove our result we need the following lemma.

Lemma 4.1 [11] Let  $a, b \in \mathbb{C} \setminus \{0\}$ , c > 0. Then the following holds: (i) For a, b > 0, c > a + b + 1,  $\sum_{m=0}^{\infty} (m+1) \frac{(a)_m(b)_m}{(c)_m(1)_m} = \frac{\Gamma(c)\Gamma(c-a-b-1)}{\Gamma(c-a)\Gamma(c-b)} (ab + c - a - b - 1).$ 

$$\begin{array}{l} (ii) \ For \ a,b > 0, \ c > a + b + 2, \\ \sum_{m=0}^{\infty} (m+1)^2 \frac{(a)_m(b)_m}{(c)_m(1)_m} = \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} \left( \frac{(a)_2(b)_2}{(c-a-b-2)_2} + \frac{3ab}{c-a-b-1} + 1 \right). \\ (iii) \ For \ a,b > 0, \ c > a + b + 3, \\ \sum_{m=0}^{\infty} (m+1)^3 \frac{(a)_m(b)_m}{(c)_m(1)_m} = \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} \left[ \frac{(a)_3(b)_3}{(c-a-b-3)_3} + \frac{6(a)_2(b)_2}{(c-a-b-2)_2} + \frac{7ab}{c-a-b-1} + 1 \right]. \\ (iv) \ For \ a,b,c \neq 1, \ with \ c > \max\{0,a+b-1\}, \\ \sum_{m=0}^{\infty} \frac{(a)_m(b)_m}{(c)_m(1)_{m+1}} = \frac{1}{(a-1)(b-1)} \left[ \frac{\Gamma(c)\Gamma(c-a-b+1)}{\Gamma(c-a)\Gamma(c-b)} - (c-1) \right]. \end{array}$$

**Theorem 4.2** Suppose  $t_1(z) = z + \overline{z^2 F(a, b, c; z)}, \quad t_2(z) = z + \overline{z (F(a, b, c; z) - 1)} \quad and \quad t_3(z) = z + \overline{z \int_0^z F(a, b, c; \varsigma) d\varsigma}, \quad where \ c \ is \ a \ positive \ real \ number \ and \ either \ a, b \in (-1, \infty) \ with \ ab > 0 \ or \ a, b \in \mathbb{C} \setminus \{0\}$ with  $b = \overline{a}$ . (i) If  $c > \operatorname{Re}(a + b) + 3$  and

$$\left[2(1+\lambda) + (1+4\lambda+6\delta)\frac{ab}{c-a-b-1} + (\lambda+6\delta)\frac{(a)_2(b)_2}{(c-a-b-2)_2} + \delta\frac{(a)_3(b)_3}{(c-a-b-3)_3}\right]F(a,b,c;1) \le 1,$$
(4.3)

then  $t_1 \in \mathcal{R}^0_H(\lambda, \delta)$ . (ii) If c > Re(a+b) + 3 and

$$\left[1 + (1+2\lambda)\frac{ab}{c-a-b-1} + (\lambda+3\delta)\frac{(a)_2(b)_2}{(c-a-b-2)_2} + \delta\frac{(a)_3(b)_3}{(c-a-b-3)_3}\right]F(a,b,c;1) \le 2,$$
(4.4)

then 
$$t_2 \in \mathcal{R}^0_H(\lambda, \delta)$$
.  
(iii) If  $a, b, c \neq 1$  and  $c > \operatorname{Re}(a+b) + 2$ 

$$\left[\frac{c-a-b}{(a-1)(b-1)} + 1 + 2\lambda + (\lambda+3\delta)\frac{ab}{c-a-b-1} + \delta\frac{(a)_2(b)_2}{(c-a-b-2)_2}\right]F(a,b,c;1) \le 1 + \frac{c-1}{(a-1)(b-1)},$$
(4.5)

then  $t_3 \in \mathcal{R}^0_H(\lambda, \delta)$ .

**Proof** (i) Let  $t_1(z) = z + \overline{zF(a, b, c; z)} = z + \overline{\sum_{m=2}^{\infty} Q_{1,m} z^m}$  where

$$Q_{1,m} = \frac{(a)_{m-2}(b)_{m-2}}{(c)_{m-2}(m-1)!}$$
 for  $m \ge 2$ .

In view of Theorem 2.8, to prove that  $t_1 \in \mathcal{R}^0_H(\lambda, \delta)$ , we need to show that

$$\sum_{m=2}^{\infty} m \left\{ 1 + (m-1)[\lambda + \delta(m-2)] \right\} |Q_{1,m}| \le 1.$$

Then, using Lemma 4.1 and the Gauss formula (4.2) we observe that

$$\begin{split} &\sum_{m=2}^{\infty} m \left\{ 1 + (m-1)[\lambda + \delta(m-2)] \right\} |Q_{1,m}| \\ &= \sum_{m=2}^{\infty} m \left\{ 1 + (m-1)[\lambda + \delta(m-2)] \right\} \frac{(a)_{m-2}(b)_{m-2}}{(c)_{m-2}(m-2)!} \\ &= \sum_{m=0}^{\infty} (m+2)[1 + (m+1)(\lambda + \delta m)] \frac{(a)_m(b)_m}{(c)_m m!} \\ &= \sum_{m=0}^{\infty} \frac{(a)_m(b)_m}{(c)_m m!} + (1 + \lambda - \delta) \sum_{m=0}^{\infty} (m+1) \frac{(a)_m(b)_m}{(c)_m m!} \\ &+ \lambda \sum_{m=0}^{\infty} (m+1)^2 \frac{(a)_m(b)_m}{(c)_m m!} + \delta \sum_{m=0}^{\infty} (m+1)^3 \frac{(a)_m(b)_m}{(c)_m m!} \\ &= F(a, b, c; 1) + (1 + \lambda - \delta) \left[ \frac{ab}{c - a - b - 1} + 1 \right] F(a, b, c; 1) \\ &+ \lambda \left[ \frac{(a)_2(b)_2}{(c - a - b - 2)_2} + \frac{3ab}{c - a - b - 1} + 1 \right] F(a, b, c; 1) \\ &+ \delta \left[ \frac{(a)_3(b)_3}{(c - a - b - 3)_3} + \frac{6(a)_2(b)_2}{(c - a - b - 2)_2} + \frac{7ab}{c - a - b - 1} + 1 \right] F(a, b, c; 1). \end{split}$$

Hence, the result follows from the given condition (4.3).

(ii)Let  $t_2(z) = z + \overline{z(F(a, b, c; z) - 1)} = z + \overline{\sum_{m=2}^{\infty} Q_{2,m} z^m}$ , where

$$Q_{2,m} = \frac{(a)_{m-1}(b)_{m-1}}{(c)_{m-1}(m-1)!}$$
 for  $m \ge 2$ .

In view of Theorem 2.8, to prove that  $t_2 \in \mathcal{R}^0_H(\lambda, \delta)$ , we need to show that

$$\sum_{m=2}^{\infty} m \left\{ 1 + (m-1)[\lambda + \delta(m-2)] \right\} |Q_{2,m}| \le 1.$$

Then, using Lemma 4.1 and the Gauss formula (4.2) we observe that

$$\begin{split} &\sum_{m=2}^{\infty} m \left\{ 1 + (m-1) [\lambda + \delta(m-2)] \right\} \frac{(a)_{m-1}(b)_{m-1}}{(c)_{m-1}(m-1)!} \\ &= \sum_{m=0}^{\infty} \frac{(a)_{m+1}(b)_{m+1}}{(c)_{m+1}(m+1)!} + (1+2\lambda) \sum_{m=0}^{\infty} \frac{(a)_{m+1}(b)_{m+1}}{(c)_{m+1}m!} \\ &+ (\lambda + 3\delta) \sum_{m=1}^{\infty} \frac{(a)_{m+1}(b)_{m+1}}{(c)_{m+1}(m-1)!} + \delta \sum_{m=2}^{\infty} \frac{(a)_{m+1}(b)_{m+1}}{(c)_{m+1}(m-2)!} \\ &= F(a,b,c;1) - 1 + (1+2\lambda) \frac{ab}{c} F(a+1,b+1,c+1;1) \\ &+ (\lambda + 3\delta) \frac{(a)_2(b)_2}{(c)_2} F(a+2,b+2,c+2;1) \\ &+ \delta \frac{(a)_3(b)_3}{(c)_3} F(a+3,b+3,c+3;1). \end{split}$$

Condition (4.4) concludes that  $t_2 \in \mathcal{R}^0_H(\lambda, \delta)$ . (iii) Let

$$t_3(z) = z + \overline{z \int_0^z F(a, b, c; \varsigma) d\varsigma} = z + \overline{\sum_{m=2}^\infty Q_{3,m} z^m},$$

where

$$Q_{3,m} = \frac{(a)_{m-2}(b)_{m-2}}{(c)_{m-2}(m-1)!}$$
 for  $m \ge 2$ .

Using a similar approach to the proof of (ii), we have

$$\begin{split} &\sum_{m=2}^{\infty} m \left\{ 1 + (m-1) [\lambda + \delta(m-2)] \right\} \frac{(a)_{m-2}(b)_{m-2}}{(c)_{m-2}(m-1)!} \\ &= \sum_{m=0}^{\infty} \frac{(a)_m(b)_m}{(c)_m(m+1)!} + (1+2\lambda) \sum_{m=0}^{\infty} \frac{(a)_m(b)_m}{(c)_m m!} \\ &+ (\lambda + 3\delta) \sum_{m=1}^{\infty} \frac{(a)_m(b)_m}{(c)_m(m-1)!} + \delta \sum_{m=2}^{\infty} \frac{(a)_m(b)_m}{(c)_m(m-2)!} \\ &= \frac{c-1}{(a-1)(b-1)} \left[ F(a-1,b-1,c-1;1) - 1 \right] + (1+2\lambda) F(a,b,c;1) \\ &+ (\lambda + 3\delta) \frac{ab}{c-a-b-1} F(a,b,c;1) + \delta \frac{(a)_2(b)_2}{(c-a-b-2)_2} F(a,b,c;1). \end{split}$$

Condition (4.5) completes the proof.

Note that for  $\rho \in \mathbb{C} \setminus \{-1, -2, \cdots\}$  and  $m \in \mathbb{N} \cup \{0\}$ , we have

$$\frac{(-1)^m \left(-\varrho\right)_m}{m!} = \begin{pmatrix} \varrho\\ m \end{pmatrix} = \frac{\Gamma\left(\varrho+1\right)}{m!\Gamma\left(\varrho-m+1\right)}.$$

In particular, when  $\rho = l \ (l \in \mathbb{N}, \ l \ge m)$ , we have

$$(-l)_m = \frac{(-1)^m l!}{(l-m)!}.$$

Now, using the above relation in Theorem 4.2, we construct the following harmonic polynomial which is in the class  $\mathcal{R}^0_H(\lambda, \delta)$ .

**Example 4.3** Let a = b = -3 and c be a positive real number. Then using the above relation, Theorem 4.2 (ii) yields the following: If

$$-c^{3} + (18\lambda + 15)c^{2} + (162\lambda + 108\delta + 106)c + (324\lambda + 360\delta + 168) \le 0$$
(4.6)

then

$$T_{2}(z) = z + \overline{\sum_{m=1}^{3} {\binom{3}{m} \frac{(3-m+1)_{m}}{(c)_{m}} z^{m+1}}}$$
  
=  $z + \frac{9}{c} \overline{z}^{2} + \frac{18}{c(c+1)} \overline{z}^{3} + \frac{6}{c(c+1)(c+2)} \overline{z}^{4} \in \mathcal{R}^{0}_{H}(\lambda, \delta)$ 

For instance, setting  $\lambda = 3$ ,  $\delta = 1$ , and c = 78.2, condition (4.6) is satisfied and the images of concentric circles inside the unit disk  $\mathcal{U}$  under  $T_2$  with c = 78.2 are shown in Figure 3.



Figure 3. Image of  $T_2(\mathcal{U})$  with c = 78.2.

#### References

 Clunie J, Sheil-Small T. Harmonic univalent functions. Annales Academiae Scientiarum Fennicae Series A I Mathematica 1984; 9: 3-25.

### YAŞAR and YALÇIN/Turk J Math

- [2] Dorff M. Convolutions of planar harmonic convex mappings. Complex Variables Theory and Applications 2001; 45 (3): 263-271.
- [3] Duren P. Harmonic mappings in the plane. Cambridge Tracts in Mathematics. 156 Cambridge, UK: Cambridge Univ. Press, 2004.
- [4] Fejér, L. Über die positivitat von summen, die nach trigonometrischen order Legendreschen funktionen fortschreiten. Acta Litt. Ac Sei. Szeged 1925; 75-86 (in German).
- [5] Ghosh N, Vasudevarao A. On a subclass of harmonic close-to-convex mappings. Monatshefte f
  ür Mathematik 2019; 188: 247-267.
- [6] Goodloe M. Hadamard products of convex harmonic mappings. Complex Variables Theory and Applications 2002; 47 (2): 81-92.
- [7] Miller SS, Mocanu PT. Differential subordinations and univalent functions. Michigan Mathematical Journal 1981; 28: 157-171.
- [8] Miller, SS, Mocanu PT. Differential Subordinations, Theory and Applications. New York, NY, USA: Marcel Dekker, 1999.
- [9] Nagpal S, Ravichandran V. A subclass of close-to-convex harmonic mappings. Complex variables and Elliptic Equations 2014; 59 2: 204-216.
- [10] Nagpal S, Ravichandran V. Construction of subclasses of univalent harmonic mappings. Journal of The Korean Mathematical Society 2014; 53: 567-592.
- [11] Kim YC, Ponnusamy, S. Sufficiency for Gaussian hypergeometric functions to be uniformly convex. International Journal of Mathematics and Mathematical Sciences 1999; 22 (4): 765-773.
- [12] Li L, Ponnusamy S. Disk of convexity of sections of univalent harmonic functions. Journal of Mathematical Analysis and Applications 2013; 408: 589-596.
- [13] Li L, Ponnusamy S. Injectivity of sections of univalent harmonic mappings. Nonlinear Analysis 2013; 89 276-283.
- [14] Ponnusamy S, Kaliraj AS, Starkov VV. Absolutely convex, uniformly starlike and uniformly convex harmonic mappings. Complex Variables and Elliptic Equations 2016; 61 10: 1418-1433.
- [15] Ponnusamy S, Yamamoto H, Yanagihara H. Variability regions for certain families of harmonic univalent mappings. Complex Variables and Elliptic Equations 2013; 58 (1): 23-34.
- [16] Rajbala C, Prajapat JK. Certain geometric properties of close-to-convex harmonic mappings. Preprint, arXiv:1910.04441.
- [17] Al-Refai O. Some properties for a class of analytic functions defined by a higher-order differential inequality. Turkish Journal of Mathematics 2019; 43: 2473-2493.
- [18] Rosihan MA, Lee SK, Subramanian KG, Swaminathan A. A third-order differential equation and starlikeness of a double integral operator. Abstract and Applied Analysis 2011; Article ID 901235.
- [19] Singh R, Singh S. Convolution properties of a class of starlike functions. Proceedings of American Mathematical Society 1989; 106: 145-152.
- [20] Temme NM. Special Functions: An Introduction to the Classical Functions of Mathematical Physics. New York, NY, USA: Wiley, 1996.